Total No. of Questions : 12 ] [ Total No. of Printed Pages - 4

CFMC-482

M.Com. (Final) Examination, 2023
ACCOUNTANCY AND BUSINESS STATISTICS
Paper - VII

(Management and Operational Audit)

Time : 3 Hours | [ Maximum Marks : 100
Section-A (Marks : 2 x 10 = 20)
Note -~ Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(Tus-37) (3T&F : 2 x 10 = 20)
He o~ Ifi T\ v & S Sl (S 50 IeE) | U A 2 3E H B
Section-B (Marks : 8 x 5 = 40)
Note — Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(TUe-=) (37 : 8 X 5 = 40)
= - T A fEE e weE & S SIS (ST-EE 200 ) | WS E YA 8 3%
i1
Section-C (Marks : 20 x 2 = 40)
Note '— Answer any fwo questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(@ues-w) (3% : 20 x 2 = 40)
qZ o~ AW H G R E g # IO AN (SW-EH 500 ) | WAE U9 20 27F 1 ¥
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11.

Define Investigation. Discuss briefly the kinds of investigation.
FEYE H gy e FTHYMA & WER H Higm qoH RIS |
Describe 1n detail the audit procedure of cooperative societies.

TeFHl aiadl #1 iee gfem &1 fomr 8 auk wifsu)
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CFMC-483

M.Com. (Final) Examination, 2023

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - VIII
(Advanced Costing Problem)

Time - 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note —  Answer all zen questions (Answer limit 50 words). Each question carries

Note —

2 marks.

(TUS-3N) (3 : 2 x 10 = 20)
Tsfi o9 weAl F I A (ITHH 50 V=) | TR YT 2 Ik H
Section-B (Marks : 8 X 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marKks.

(@us-9) (3FF : 8 x 5 = 40)
aA H g fEel urg g & W I (3W-EE 200 ) | TS YWY 8 ofF
F1 5

Section-C (Marks : 20 x 2 = 40)
Answer any fwo questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(TUs-%) (31 : 20 x 2 = 40)
B g fE 9 ued & W AN (IW-EW 500 wI) | W g 20 3 H

4
[
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(i)

(i)

(i11)

(1v)

v)

(vi)

(va1)

(vii)

(1x)

{x)

Section-A
(ATE-3)
In which year was ICWAI established ?
f&m 7 ICWAI #1 gm0 #7 T 7
What do you mean by Overhead 7
Tfrora A s a7
What do you mean by Internal Information ?
AFAfTE A A o wn gawa § 7
What is Angle of Incidence ?

AT w1 wo wm k7

What do you mean by Semi-variable Overheads ?

- uftadaviier aqfrerdi @ s @ qaza & 2
Define ‘Marketing’ Costs.

*farqor ! Al @t yfoaran g

Mention ore difference between Scrap and Spoilage.

sEv wEW aw gfvd @R § @ Ue A FaE

What do vou mean by Actvity Ratio ?

fareiierar s7{UE § o9 I WHFED € 2
What do you mean by Research Costs 7

gy =T § a9 owEEd § 2

What is the difference between Data and Information ?

BRI-754 (

Section-B
(FA7TZ-=)
Describe scope of EDP
The following figures are given to you -

Year Sales | Profit/Loss
Q) )
2008-09 1.00,000 10,000 (Loss)
2010-11 2,50,000 20,000 (Profir)

Calculate :

(i) P/V Ratio

(1) BEP

(1i1)  Sale to earn profit of Z 80,000
T FHIAT -

(i) 9 HE HA9E

() wA-fo=r fag

(i) % 80,000 F1 w9 HHA FH 3 faE

Narang Ltd. 1s producing 3000 Units at its 80% capacity. Its flexible budget is an

under :

A fefges 80% FrEsma T 3000 3%7=A1 SETEd F7 W &) S9F amyia 992

TET YT :

Sales value @ 200 per Unit
Material Cost

Labour Cost

)
6.00,000
15,000
1,05,000

CFMC(C-483 PTO.



Overhead Cost

(1) Vanable 60.000
(1)  Semu-variable 35,000
() Fixed 1,00,000

An offer for additional 3750 Units sale 1s available, if 1t 1s supphed at ¥ 70 each
If the semui-variable overheads are expected to increase T 1,250 for the addinonal
production, will 1t be advisable to accept the offer

230 st TEEE § AEa w1 e e 7, At 3= 3 70 7 oEE % fem A
e T TR sfEER TAnER W g SiAAReE = F % 1,250 F 3 @9 A e
From the informauon given below, calculate the selling price which should be
fixed under the return on capital employed method, with an expected net return
of 20% on total capial employed

W?”mmnﬂmwwhﬁfmﬁmﬁ?hﬁn?ﬁmﬁﬁw

| Direct Matenal per Unit 10
| Direct Wages per Unit 4
Vanable Factory Overhead per Unit 240
Vanable Selling and Distnbuton Overhead 1.60
Annual Sales 3000 Unus

Fixed factory overheads are ¥ 27000 and fixed admunmistranen and selling
:

overhead are T 13000 Capital emploved in fixed assets 1s ? 2.50.000 and

working capital employed 1< S0% of sales
foy A TETHE 27 000 ' ore Gy am f T T 13,000

o owrn mxrfed

3 brfaagten da v Y < o0 ® owen FTaYyTA W MET nfe 1 50

BRI-754 (4 CFMC-483

6 Geronimo Aur Supplies is selling parachutes for rraming and exhibition at ¥ 130

each at 70% of its capacity. Duning previous month 1190 parachutes were
manufaciured for which costs were as follows :

Hf T TR 3 e T wEed 3 70% Feeew WS ted T

T 150 5 THE AT 5 «vT’—"J"'}-"“"'!??xVHﬂe'-T_”"IIQO""TM— Ealeeiect
& fAwa 5 T oo HEE A 5 wER 3 9

Direct Matenal

Direct Labour

Semi Variable Overheads
Fixed Overhead T 20.000
One department of Central Government as asked to quote tender price for
340 parachutes. Other informauon are as follows -
(a) As this 1s a government order the price to be quoted will not influence the
commercial selling price
F 77 TE TED] AEW 2, A SR WA g W = g71 T R
wqTE & A
() Fixed costs are ¥ 2,40,000 per annum
=i ferw =FA € 2,40.000 %1
(c) Semi-vanable overheads attnbutable to the vanous activity levels are as
follows :

s fEE TR TG - TEna S9ei TR FET

ey

T Aceivt o 1 0% | o noe
| Activity an o | 0% 80% 90%) [ 100%
’; |

Amount () | 3978 | 4780 5576 6426 7310 |
l | _
(&) The directors want 10° profit on cost

e AR T 0% N Eioldl

alculate Mimmum Selling Price for Government Order Also calculate Toul

(@]

e s SR PTE T W W T w9 Fe
3!

BRI-754 (5 ) CFMC-483  ©T0.



7. If rate of interest 1s 10% and furure cash mflows for 4 years i1s ¥ 10,000 per

annum, then find total discounted cash mnflow. Particulars ‘ 2009 | 2010
um, f . -
o T 10% i 71 A 4 =9 TF TEF w9 H T 210,000 ez ST . Total Fee Collected (A) lL 1.30,000 ! 2.25.000
mﬁmﬂm?—ﬂ'm HE AT T Fafam Cost incurred i }
|
8 5000 units were processed In a process at a cost of ¥ 10 each. not including any (1) Cost of question booklet i 30000 ‘ 45000
spoilage allowance Actual total spoiled units were 1000 out of which normal (i) Valuauon of booklets i 60,000 & 90,000
& : |
spoil ts were 500 Calculate the cost of finished goods, normal spoilage i . o
spotiage uni ¢ ) B BORE (1) Hall Rent T 4.000 per day | 16,000 | 1o 000
and abnormal spoilage and also give nccessary journal entries for their accounting l |
(1iv) Honorarium 0o CTA, ACTA etc, ‘[ ¢o00 [ 9000
treatment if spoiled units are sold @ ¥ 8 ! i
- . 4 - ~ . - - (v)  General office expenses | T30 400
mE wfFEm 8 2 10 7 zEE F1 A aen 5000 TR W owE g, fah e wwea |
% fom w7 7z e TA %) AAAE FA FA TR 1000 o, i S e (vi)  Supervision (cne supervisor for every 100 { 6000 |
s 17T 3 2 el © 5 R » U z - | H
zETzA 500 A, fAfEA A (A TR ), T faFEa am amme e e w5 candidate @ ¥ 75 per day) l ‘:
ST A FTTAD AG] TF S FARE] % (A AETTE S gfateal d Zifem At g Total Cost (B) | 128400 | 176400
| {
Ercs fa z#r2 #1 21 7 fawa fEm =3 : ;
2 8 7 T Net Revenue (A-B) | 1600 | 48600
Section-C
You are required 10 compute .
(773-7)

ATE FA FAE :
Ravindra Unwversity conducts a special course on computer application .
(1) Number of candidates for BEP

Apphcations are invited from graduates for the entrance test for this purpose

The entrance test consists of four objective type examinations o be conducted in

o

T=-fa=r A 7 T T FEveE ==
i llecte ( Net revenue if 4000 candidates take up this
Fach applicant is charged a fee 2 75 The following data are collected 1 et revenue 1f 4000 candidates take up this

4000 == = To= TR T I TaS

REIIT AT T o fyorad T

(1) Net revenue if 5151 candidates take up

A gmara gt e WA 2

VERE D e M= 25 S

(iv) The number of candidates 1if net revenue desred 15 T 40800

BRI 7 40800 F TZ T A T W U T 7 wew
-754 -483
r 6 EEREE BRI-754 (7 ) CFMC-483 =7



10 An engincenng company's production hours are 164,000 On the basis of the
following informations in respect of an €NgINCCTING company which product

mix will the highest attainable profit 7 Do you recommend overtime working

upto a maximum of 15000 hours at twice the normal wages rate.

T DAt we F 3AmA w02 1 84,000 £1 FEA A FEAA e gwa g s

T AT 3R feym Fer # afuwan mm wEE FIN 7 T AT A9 G950 6]

T 77w afaFam 15,000 7993 F fem gfamma #1 fawrirn wm o

Mimnimum units of production

Product A B C

Raw material per unit (kg) @ T 10 per kg 10 6 15
Labour hours per unit (hour) @ % | per hour 15 25 20
Sclling price per unit 125 100 200
Maximum units of production 6000 | 4000 | 3000
1000 | 1000 1000

Maximum production hours 1,84,000 with facilitates for a further 15,000 hours

on overtime basis at twice the normal wage rate.

Aferwan Ieaed A2 1,84,000 T 75 F AEA T A A 7 W oAGEE3 F AU

afafr ]5,000 U2 IAD %I

11. Explain the meaning of Marginal Cost, Differential Cost, Standard Cost and

Relevant Cost with the help of some example.

T ANTA, JEIHF ANA, WA AT A9 AA9A AA #1449 IR [iEA JEEE

12.  What do you understand by Productivity 7 What are the causes of its decline and

how can it be improved ?

IEFA @ A9 T OHEZA B 7 THE EH F 1 FE 7 AFA 7 A9 IEEA § 7Y0

™ e % oy e a g

o ww R A S

& 47 ™
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CFMC-484

M.Com. (Final) Fxamination, 2023
ACCOUNTANCY AND BUSINES STATISTICS

Paper - IX

(Project Planning, Appraisal and Control)

Time 3 Hours | | Maximum Marks . 100
Section-A (Marks : 2 x 10 = 20)
Note Answer all fen questions (Answer limit 50 words). Each question carres
2 marks.
(FUs—3) (3 1 2 x 10 = 20)
Tz quil @\ gl @ I AW (IEHrE 50 V) | WeE W 2 F H R
Section-B (Marks : 8 x 5 = 40)

Note Answer any five questions out of seven (Answer imit 200 words). Each
question carries 8 marks.
(|uz-7) (37 : 8 x 5 = 40)
Eica ar § A fEE are weE @ I 2 (W 200 W) | WEE U 8 ST
Eal
Section-C (Marks : 20 x 2 = 40)
Note Answer any [wo questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(Ers-=) (30 : 20 x 2 = 40)

(A

BRI-888 (1) CFMC-484 PTO.



it What s -

=== SSe T = <
ti) Grve formula for cakulanon 0

T FEE ¥ e SRS w WS w5 W g3 A0S0
w What is Rusk Adjusted Rate of Discount ?

TEs TEE T A T o 2
Whar 1s Work Break-down Structure ?

FE 999 T (WBS) =1 ¥ 7

What do vou mean by Mamx Organisation ?
s T S Im s oEEE 7

(viz) What s Cnucal Path ?

T 3 STE Y9 ¥ E )
(vu1) What do you understand by External Project Control ?
(1x)  Mention four characterisucs of a good project report.
(x)  What 15 Benefit Cost Ratio ?

BRI-888 ( 2 ) CFMC-484

()

Section-B
(Fvz=)
Menton the process of Project Raning Index.

REEEEUIE I oo o G —

State and explain. with suitable examples the Little and Mirrlees Methodology

for Social Cost-benefit Analysis.

WA AA-AS e w7 fefre-foei AT w3t e @ HAFE

A project had begun on Ist January, 2022 and was expected to be completed by

30th September, 2022. The project is being reviewed on 30th June, 2022 when the

following information has been developed :
Budgeted Cost for Work Scheduled (BCWS)
Budgeted Cost for Work Performed (BCWP)
Actual Cost of Work Performed (ACWP)
Budgeted Cost for Total Work (BCTW)
Additional Cost for Completion (ACC)
Analyse :

(i) Cost Variance

(1)  Schedule Variance

(ii1)  Cost Performance Index

(iv)  Schedule Performance Index

BRI-888 3

Q)
15,00,000
14,00,000
16,00,000

25,00,000

12,00.000

CFMC-484




—— - - - oL TR -~ J ===T==T
== Teasy | v LW = -

< e e = T ET TT TR e T Sme— _
2 e o = i E €] = == =
=5 & -
= T T e 5 o6 o6
Tfer = BT FE=T TF 4 30,000
i I O I=EE T £y
= T ¥ FI=Z TF 23 00 000
— = e 200,00

= == TmEE e
5 The mitial aglay of 2 it generates cash mflows of

F 20000 % 15.000 % 25.000 and # 10,000 mn 4 vears. Using present value index

10% rate of

@

The present value of 7 | at 10% discount factor for 4 vears is .909, 826, .751 and

0.000 2 7= 795 4 =9 § ®E9: T 20,000,

% 15000, 7 25,000 ¥ 7 10,000 F%z sz W= 7@ §1 A9AH oA HAwE @M

TF T O WOOFE T 0% 951 77 wam 9w g9 % e wuen: (909, 826, 751 A7

523 %

BRI-888 ( 4 ) CFMC-484

9.

BRI-888 (s )

= E IS S o e T SR w5 oSS i st

Project A | Project B
Project Events :

L 8.000

s

4.000

(ot
e
=
&

6,000

g 0O w
e e

W
o 3
g{

2 | 8000

Section—C

(FvE—=)
“Project report is not a statement of complaint but a statement of information
for project manager.” Comment and narrate the characteristics of a good report.
hwwfmamwmuﬁaﬂmﬁﬁmﬁmx
Discuss in brief, the various incentives given deductions allowed under the
Income Tax Act for encouraging industrial projects.
SrtnF wfrrse & s & s afatrm |t few St m s e
F1 wEa T s % 7 "Em A witem

CFMC-484
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The actrvites involved

i:n 2 PERT Project are detailed below

Duration (in weeks)

Activity i B'tj;m!suc Most Likely Pessimistic

- = 3 6 15

; 3 6 12 30

35 5 i 17

“,3 4 19 28

5-8 i 4 7
| 67 } 3 9 27
‘ 45 3 6 15
| 1-6 [ 2 5 14

24 2 5 8
(i) Draw a Network Diagram.
(1) Find the critical path after esumating the earlist and latest event times for

all nodes.

(1) Find the probability of completing the project before 31 weeks.
vF T e 8 oaEiaw s w1 s A o ® o
; —_— t T (W #)
5 | emEE stfiraam FrroTraTet

P2 5 3 6 15
’ 2-3 ’ 5 12 30

35 | 5 1 17

78 ‘ 4 19 28

5-8 i ; 4 ; 7

1 |
‘ 6-7 3 1 Q i 27
; 15 E p 15
6 5 % 4 |
L2 1 - «"‘“»‘ # 5 :1 8
BRI-888 (6 CFMC-484

{1)

(1

(111)

:*u%éé}?:’wz:‘;&??::m?'a:':a?:m?l‘:ﬁ'ﬁ TR F TvE wew um

v‘cmrum‘—-qa-ﬂ-ﬂrrm——'rﬁ a8

T ¢ 7+7+6=20

12. The following data relate to Saket Projects Limited :

Pt o v e e @ maPm E

®
Sales (16000 unuts at # |5 2.40,000
Variable Expenses 1.92.000
Contribution 48,000
Fixed Expenses 36.000
Net Profit 2

You are required to calculate

ATTE T F= E

O]

(11)

(1)

BRI-888 (

What sales are needed to achieve the objective of No Profit Na Loss 7

What sales are necessary (o result in a after tax net income of ¥ 11,000, the
corporate income tax rate being 45%.

?ll,ooowwﬂzmw%ﬁvfwwfamrm’ = %, Ttz fam s
F T 45% T

What should be selling price per unit if the break-even pomnt is brought
down to 10000 umt 7

2 R 10000 TR T A d o re faw qoE w A 2

1+7+6=20

b
—

CFMC-484
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Total No. of Questions : 12 ] [ Total No. of Printed Pages : 8

CFMC-485

M.Com. (Final) Examination, 2023

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - X

(Taxation and Tax Planning)

Time : 3 Hours | [ Maximum Marks @ 100

Note —

Note -

qME -

Section—A (Marks : 2 x 10 = 20)

Answer all fen questions (Answer limit 50 words). Each question carries

2 marks.

(@Us-3) (3T : 2 x 10 = 20)
i @) WAl & SW dfAu (ST 50 ) | TR T 2 3F 6 R
Section-B (Marks : 8 X § = 40)

Answer any five questions out of seven (Answer limit 200 words). Each

question carries 8 marks.
(Gus-9) (3% : 8 x 5 = 40)

o # § feed aie WAl % W SIS (ST-HE 200 =) | 9eAs 9 8 e
cald

Section—-C (Marks : 20 x 2 = 40)
Answer any fwo questions out of four (Answer limit 500 words). Each

question carries 20 marks.
(@Us-4) (37a : 20 x 2 = 40)

2 B g e @ gvdl @ I Sifery (SW-HIA 500 V) | G g 20 S
g

BRI-889 (1 ) CFMC-485 PTO.



Section-A

(guE-30)

Define Direct Tax
yere w7 H IR A

1. ()

(iiy ~ What do you mean by Tax Planning ?

w1 frgeE § SoE a9 S ' 7
Write any one problem of tax planning in the context of depreciation
qergE % T § w1 P F o T ® fefan

Write any fwo advantages of employing own staff for Tax Planning.

(111)

(v)

Fx feE & fou =F &1 ©F @A H FE G A Fasy |
(v)  An employee gets lunch allowance @ ¥ 1,200 per month from his employer
His expenses on lunch amounts to ¥ 900 per month. What amount of

lunch allowance shall be taxable in Assessment Year 2022-23 ?
& FHEA F) 79y FEE ¥ T 12,00 TOEE SS9 9w 9E @ g1 98 3 900
wfaeTE S5 W 59w €1 HE-fAue a9 2022-23 3 9eE 99 F FE
FI-9rg Fh 7
(vi)  Give rwo suggestions to make administrative legislations in favour of Tax
Planning.
yorafE fauEl ® w2 fEeE $ 989 T9H & fou w6 & gEE S
(vi)) How does direct tax help in Economic Development ? Wnte any nwo
points. )
TE W AT fawE § fH9 TER 9EEs od ¢ 7 %6 4 fag fafen
(viii) An assessee acquired a patent on 10th November for ¥ 2,80,000 during the
previous year 2021-22. How much amount will be deducted for the same
while calculating income from business and profession ?
TF TR 3 T 2,80,000 § TaEd 202122 F wF e 10 FOER H w9 R
WWWQWﬁm‘g@wmaﬁwaﬁﬁ?ﬁmiﬁﬁ ?

3RI-889 CFMC-485

(2)

(ix) ~ Write names of any four expenses which are expressly allowed in the
computanon of taxable profits of business
(x)  What is the difference between Tax Evasion and Tax Avoidance ?
FTAFTN AT FT wAm B owm oaw=w L U
Section-B
(@vz-a)
Discuss the importance of Tax Planning.
F1 fam % 98@ 1 gEEmE
Ashok Industnes owned six machines which were mn use i 1its business on
31st March, 2021. Depreciation on these machines was availabie as ‘Plant’. The
written down value of these machines at the end of the previous vear relevant to
assessment year 2021-22 was ¥ 6.50,000.
A new plant was bought for ¥ 6,50,000 on 30th November, 2021 Three of the
old machines were sold on 10th June, 2021 for Z 9.00,000

Required :

(1) Compute the claim to depreciation for assessment year 2022-23

(1)  Capital gains liable to tax for the some assessment vear.

HYH TSRS B W@IRAE ° 6 W o, S 31 °E, 2021 F 3HH O ¥ wEA § A4
T TR W’ & T A g e g a1 H-Fier =16 2021422 § wEfue Taed
% 3 H 39 WAl W uetEs ged ¥ 6,50,000 @11

30 FEFE, 2021 F TF T FEF X 6,350,000 F wE @A AEE § F 3w
10 5, 2021 F % 9,00,000 & == fe=

aﬂ%ﬂ M

()  w-TruRo e 202223 % fow g9 9= TS F e

(i) 3 F-fruRw ad & fou F-AE Sy F o

BRI-889 ( 3 ) CFM(C-485 PTO.



Enumerate the problems of @ax planning in the context of Administrative

Legislanon 1in India
ura 8§ yomsfen fawrs & maw 8 ¥ FTAOEs ¥ aoensi e oaots w1t

Describe the provisions of Indian Income Tax relating to set-off and carry

forward of the following losses

Losses of Speculation Business

Losses of Non-speculanon Business
(1) Losses under the head Capial Gains’
vy Losses of Firm
AR SmE s # oge 9 ofa # 9f mm owm A o g=h o =
T3 wifen
" s % whegt
= wwm owt it
e wpy veE ¥ e
© w3 w pirg
Explain the exempaon i respect of profits of newly established unuts in speaal

ccomomx zoncs gnder Section 10 AA

W 1D AA ¥ wuwts fgwy

o 3 TETT ¥ W ¥ FTLE ¥ TS

iy
Mr Ansh sold some gold orr n 10th January 2022 for T 3.32.000 and
spent B W0 for beokerage ctic  He 968 at the

e of has marmage

D and the

AT E 10 A, 2022 # wm S T 3.82.000 F AW T 10,000 7 s
F U EA W WA T (968 § ovd # wAm IR AN % wew 2 a4 3 o
T 40,000 B T moAw | g 200] # TIE AET =5 T 1,00,000 @ TR 10w,
2022 F1 2 60,000 % writa g rramm i g BRIEA T S A v amen
Emfmwwmtvﬁnmﬁm%nf?ﬂlﬂfwm*m
B fatm @ e st 4 e vinds w1 s o= B oA o
Discuss about ‘Investment’ with reference to Tax Planning.
¥ e ® maEw 3 fafrin @ v A

Section-C

(ATE-3)
Mr Amit s offered an employment from Ist Aprd. 2021 by Nawa Lid., Delhi
(population more than 26 lakhs) with the following mwo alternatves
st afm ® oarrn fefory S (amard 25 A B ) 3 = 2 T o
IS4, 2021 & Sope w v B B

Particular |

i

i
i
o | o

Basic Pay (per month) : 60 000 ;[ 60 000
Commussion (per month) : 10.000 | 10,000
Bonus L0000 | w000

ducanon allowance for two chiddren | 36.000 | —

Educanon faaliy for rwo children wn XYZ institution,
i

Servant Allowance i

Free Servan: ]

farr marker value of these tmamenss on | 4 2000 was T 1. 00000 He mvested ‘ A i
- . Entertainment Allowance { 8000
T 40 (00 i the bonds maued by Nanonal Highway Agthonty of Indua redeemable i i
) £, p ! odn | N Q WY
4 ! ar: ad hurm thar has Club facility (spors and bealth) ! — R O0C
aftey f s om ek March As 3 fax consulzam: advise hum that have { i
masch amoun! he showid et o aegaenng @ ressdental house, so that his Transport allowance for commuting between i t
i o7 s B
axahle mcomne under the head Income from Capsmal Gan s reduced © Zero Office apd Resadence 27,600

BRI-889 ( CFMC-485

-~
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Free car (1600 CC) facility for personal usc
) @

(car owned by employer) valued 27 604
Compensation 50,000| Gross Profir b/d 1.89.000
Medical Allowance 12,000
Rent, Rates and Taxes 3.000| Commission 8,000
Medical facility for assessee and his family members 12,000
Sundry Expenses 5300 Interest from Customers 2,000
lectricity Water Supply Allowance 5
Gas, Elecnciry and Water Supp 3,600 Salanes and Bonus 9.500 | Dividends 5,000
Free Gas, Electricity and Water — 5,600 Contribution to R PF 2,100 | Contnibution by Employees
Holiday Home Allowance 12,000 - Legal Expenses 1,800 | iowards R.PF 2,100
Holiday Home Facility - 12,000 Provision for Depreciaton 1,500! Profit on Sale of Building 16,500
10,000 _ Travelling Expenses 4,000
o 10,000 Repairs 5,800
20,000 - Entertainment Expenses 14,400
== 20,000 Rural Development Expenses 1,000
Adverusement Expenses 4,900
1,44.000 | 1,44,000 Misc. Expenses ' 2,800
. 20000 | 20000 Net Profit 1,16.500
2,22,600 2.22,600

A5 2 ez comiuient zdvice My Amat that which of the two alternatives he should
The other informauon are as under °

noost w0 mal fues iax bability remains minimum
TF 3T w3 wR I o4 s ¥ wewe e (% 2 fawedt § 8 e fawed =1 e TH T E

W WET, TEEE 3EE ¥F-I;ES EaE W7 (1) T 500 of the legal expenses relate to sales tax appeal and the rest to a suit

i0. Discuss effect of Direct Taxes on Economic Growth filed for recovening an outstanding sum from a debtor.
AEF FEE T v 3T 3 ogum o5 faawa whEU FTA FFA H X 500 MR ANE F AU WY U CAeN § @w 599 #79 6
S A gEEH § HatyE F )

T Mr Narendrz o Profic & Loss Account for the year ended on 31st March, 2022

IS 25 unger (1)  Allowable deprecianion 1s ¥ 1,800.

FHETE L wE N0 % v rnoam o b emv-w @@ FERER E = wE ¢ 1.800 ¥
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: ,000 for advertise :
(1) Advertisement expenses include ¥ 3 Ment in the SOuvenir

wublished by a political party.
:awmnﬁﬁn,oooqmﬁmmmm%ﬁ%%%
i

(v)  Rural development expenses include a payment of ¥ 799 made to ap
approved institution for carrying Out an approved ryrg] development
programme.
oy ferpre e & € 700 S HEA Pl ST W Frsrg iz oy
& femn mar ypram wfEfed 4

(v)  Sundry expenses include ¥ 2,000 of a payment made 1o ap approved

institution under an approved programme for conservation of natural

resources.

22,000 WrFfaw TR ® W 5 FEHA o i g 9 fey
T, W fafay =i 4 g ¥

(vi)  Sundry expenses ¥ 1,000 and contribution to R.PF are unpaid.
fafay =i & 2 1,000 7o wfora wfasafify & sivem 91 af sew &)

(vir) Compensation was paid to an employee on his retirement under the

voluntary retirement scheme of the business.

Wﬁmwmﬁﬁwﬁﬁﬁ@mﬁaﬁqﬁmﬁm
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You are required to compute his income from business for the assessment year

2022-23 and also show the amount of expenses deductible.

mm—ﬁl%ﬁwaﬁ2022-23%fﬁq3qﬁwamaﬁmmwﬁ%amﬁ°@ﬁ
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How Tax Evasion is different frop Tax Planning ? Describe the provisions to
check tax evasion.
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